# District of Barriere REPORT TO COMMITTEE

Date: November 6, 2023	File: 530.20/Rpts
To: Committee of the Whole	From: Jamie Mosdell, Rec Coordinator
Des Deudebell Fassingen ( ) Meteking of (	

## Re: Bandshell Equipment & Matching of Funds Awarded from ParticipACTION

#### Background:

On August 2, 2023, the Recreation Committee made the recommendation that the District of Barriere match the awarded ParticipACTION Community Challenge fund in the amount of \$15,000 to be budgeted for initiatives to physical activity and community engagement. Council requested a breakdown of costs and options for discussion at a future meeting.

### **Discussion:**

#### Benefits of Purchasing Sound Equipment & Projector Screen

- 1. Community Engagement The Bandshell is a focal point for community gatherings and events. Improving the sound equipment will allow us to host a wider range of events and enhance current activities. Fitness classes would be able to utilize the projector creating additional recreational programs as well as new events like "Outdoor Movie Nights" would be able to happen more consistently. Christmas events and other activities could be enhanced using the permanent sound equipment to create the ambience throughout the entire season. Other events that could benefit from access to sound equipment are: Canada Day, Terry Fox Run, Christmas Tree Light-up, and other ceremonies that often take place at our main park.
- 2. Growth of Local Talent By providing the sound equipment necessary to perform, we can better showcase local up and coming talents and encourage our town residents who may not have had the equipment necessary to perform at the bandshell.
- Economic Impact A well-equipped Bandshell will save set-up/take-down fees and in turn will allow funding for larger scale bands or scheduling additional "Music in the Park" nights. This can assist with boosting local tourism and generating revenue through rental fees, offsetting the initial investment in equipment over time.

#### Cost of Equipment

- 1. Sound Equipment Report attached \$9,990.00 (approximately)
- 220" Screen & Projector = \$8,750.00 + taxes (approximately) Eastporters Audio & Video, Oakville, ON

Notes: Costs estimated do not include installation of screen and mountable speakers. Discussions of inside, chain link storage being installed for security of equipment to be discussed as well if required.

#### **Options:**

A. Sound equipment only is purchased – Additional District funding is not provided:

Professional installation and/or security of equipment may not be possible with the remaining prize funds. A screen and projector are not purchased.

B. Sound equipment and screen/projector is purchased – Additional District funds are provided to cover the additional equipment in the amount of up to \$6,500.

Professional installation and/or security of equipment is likely not possible with this option.

C. Sound equipment and screen/projector are purchased – Matching funds are provided to a maximum of \$15,000.

Intended to cover installation and secure indoor storage of the equipment in the Bandshell.

#### **Recommendation:**

That the District of Barriere contribute to the awarded ParticipACTION Community Challenge fund in the amount of up to \$15,000 for initiatives to encourage physical activity and community engagement and to provide sound equipment, a screen/projector as well as the professional installation and security coverage.

Prepared by: Jamie Mosdell, Rec Coord. Reviewed by: Bob Payette, CAO

#### Jamie Mosdell

X

From: Sent: To: Subject:	September 25, 2023 4:49 Pt BHOSLER@LONG-MCQUAL	BHOSLER@LONG-MCQUADE.COM September 25, 2023 4:49 PM BHOSLER@LONG-MCQUADE.COM; Jamie Mosdell Sales Quotations FOR BARRIER COMMUNITY HALL				
	LONG & MCQUADE MUSICAL INSTRUMENTS 955 LORNE ST. KAMLOOPS, BC V2C 1X1 P: 250-828-2234 F: 250-374-3113					
Jamie Mosdel MCQUADE.COM	Q U O T A T I **************	QUOTE # DATE	: SQ002300 : 09/25/23 : Brandon Hosler : BHOSLER@LONG-			
PRODUCT #	DESCRIPTION	QTY	EACH TOTAL			

		~		
PROFX12 V3	MACKIE 12CH PRO MIXER WITH EFFECTS	1	484.99	484.99
	AND USB			
MC-25N	25' LO Z NEUTRIK CABLE	10	36.99	369.90
SM58-LC	SHURE CARDIOID HANDHELD DYNAMIC	2	139.00	278.00
	MIC (NO CABLE			
PS12P	YSL 12"/1" 4400W PEAK ACTIVE CAB	2	1,569.00	3,138.00
	W/ MXR			
YXL12P	YX 12"/HORN 1000W PEAK ACTIVE	4	599.00	2,396.00
	CABINET			
SKS-09B	HEAVY STEEL SPEAKER STAND-BLACK	1	79.99	79.99
YXL15SP	YX 15" YXL POWERED SUBWOOFER -	2	999.00	1,998.00
	1000W			
SW-TUBEHD	Y/S HEAVY DUTY STEEL SUBWOOFER	2	32.99	65.98
	TUBE			

QUOTE FOR Recreation Coordinator DISTRICT OF BARRIERE

This Quote expires in 30 days

Thanks for your interest in our products	GST	441.74
	PST	618.43
	TOTAL	9,894.93

Ŧ